Complete the second sentence so it means the same as the first

I'm sorry | was late to school today, Sir..

1. My alarm clock was broken. | overslept.

As a result of

2. My room's a mess. | couldn't find my tie

Due to

3. My bike's got a flat tyre. | couldn't ride it to school

Because of

4. |I've got a twisted ankle. | couldn't run to the bus stop
as a result of

5. There was an accident. The bus journey was really slow.
due to

6. | arrived at 9.30. The school gate was locked

because of



